IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

Examination for selection to the post for ex-cadre post of instructor- Electrical
in Pay level-06 of 7*" PC for MDTI/BSP.

Centre of the Date of the Duration of the Full Marks
Examination Examination Examination
CBT centre, Sr. 9-12-2024 02 Hrs 100
DPQO’s Office, (i.e. 120 Minutes)
Bilaspur

1. UYTAE $A 110 Tgiahedia a8 UHR & Uy gil s orHTeT (FHfa/femtre=yfray
3MTfE) TR 10 U A S 3R ISTHIST TR U dohiedas gl
The question paper should contain total 110 multiple choice objective type questions
which shall include 10 questions on Rajbhasha (policy/guidelines/Rules etc.) and
questions on Rajbhasha will be optional.

2. 3alfat &1 gae < 9Tl § b 9 $at 110 Wl H 9 DI o 100 Uy 5@ B TS, i ot
IMEAR 100 F HfYFH IR &l &, < gl YA fbd 1T 100 U 1 8 oo o fod HT1
ST |
Candidates are hereby advised to attempt any 100 questions out of total 110 questions.
If, any candidate answers more than 100, then the first attempted 100 questions will
only be considered for evaluation.

3. g Ui & fT 01 3i BT 3R UA® TTad IR & oW 1/3 THRIHD 3ih aRTI|

All questions will carry 01 mark each and there will be 1/3" negative marking for
each and every wrong answer.

4. IS Uit o Rt Teprur B IS fO=iIicr © <Y SiTiSh TRapon A1 BT
In case of any discrepancy in Hindi version of questions then English version will be
stand good.

5. 3FHIGART I GET §lel & 39T A1 AIASel Blet/IoN/Shelholcl/THIE TTSTT/SaT AT HIS
3 EETAST /IS TG T 3TH T e ¢ |

The candidates are not allowed to keep mobile phones/pagers/calculators/Smart
watches/ bags or any other documents / papers with them in the examination hall.

6. 35T & THT & SR GLI&TT g A6l OIS Hohl |

The candidates can’t leave the examination centre during the examination hours.

7. I IS SFACAR sehel AT Fodll 313 37 feret ATerat & fored YT SIrar g, A Yerd @ 3reror
fATHT & 3TER TR & TGl HRATS T ST |



If any candidate is found indulged in copying or any other unfair means, would be
taken up under DAR as per Railway service conduct rules.

8. U U o AT 3% iﬁh’ SECR T 3SR S ém:ns'c: (www.secr. Indianrailways.gov.in—>

FAR TR H-> 3dIoTeT > [elaqe > ahifaeh > TeaT 3R 3t Hhofl) T 3Tells i Seaf|

The answer key along with question paper will be uploaded in the SECR official
website (www.secr.indianrailways.gov.in> About us-> Division-> Bilaspur->
Personnel-> Question and Answer Key).

9. 3FACIR THSHIINR 1 R dearse A Afdse HuiRa yred 7 3T ot 3r9els
A HY ANE A 3 FF Rgat & ofiax afe A 3mafy &y at Sor dha £

Candidates may raise objections if any within 3 working days from the date of uploading
of answer Kkey in the prescribed format as specified in the SECR official website.

10. e AT FET TS ST i FNTRIT 3 ot T & THSHIIN I TThIReh da@ge T
379ClIS T ST, 3 o1, fohaT 3T 31Tt W TaaR sTgT fohar SITeam|

In case objection found correct then revised answer key will be uploaded again in the
SECR Official website thereafter, no further representations shall be entertained


http://www.secr.indianrailways.gov.in-/

WAG-7 iTshl & ahe; 4TI o fo¥ehe oh 193 TR FEdTeR IR &7 .......% T8 9d o 31N
sher &8 T 31X g dTel AT$3 9T FEATER HR HT .......% T6eT Il & |

In WAG-7 loco the side bearers nearer to the centre pivot carries .......... % of vertical load
& the side bearers away to the centre pivot carries ......... % of vertical load.
a) 40, 60 b) 60, 40 c) 50, 50 d) 100, 0

ATFEX ........ H9ehehdl o §¢ Fla & a1¢ JaT H T g

ATFEX comes into service after closing ............. contactor.

a) C-108 b) C-118 c) CTF-3 d) C-145

e THAHRT AT Y 3T T ST &, oY 5 AT & Y& Al ... 0o e AR
I ......TFCH hic EITH & foIT ST ST IR0

If MVRH motor is isolated, starting 5 minutes ....... Amps current and
continuously......... Amps current to be observed for TM.

a) 920, 500 b) 500, 500 ¢) 1000, 750 d) 1000, 500

K} 1 1) S Rl & FoMehoT garT & ST & |

Auto sanding is done by the energisation of ................... Relay

a) Q44 b) Q49 c) Q48 d) Q50

WAG-7 STl & R-1 COC &I TUTeT ... g

Location of R-1 coc in WAG-7 loCO iS .....ccuuuee.e..

a) Cab-1 center locker b) Near control reservoir
c) Above wheel no.4 d) Cab-1 left side locker

3¢ AP H, TITH-14 ............. IU UM O Ao gl

In 3@ loco, SS-14 belongs to ............... sub system.

a)Cab 1 b) Cab 2 c) Fire detection d) Auxiliaries in HB 2

WAG 7 dip! H, afe gl drgd picaer §a 181 &, Ol G &<........ Did Qo fRufa o
gl

In WAG 7 loco, If all line contactors are not closed, ensure......cocs are in open position.




10.

11.

12.

13.

a) EP 2& EP3 b) EP 1& EP3 ¢) MR 4 & EP3 d) EP 1 and EP 2

RATQIIBDT oo R FeT oM 5

a) SIT3T §Toh =frer FRatr Rl b) TE T FRaT Rer

C) SR e Ara FrearreT el d) 3ot grearere o

Relay Q 118 is called as ....cccveveveereereeieeieeece e vie e relay.

a) GR half notch protection relay b) Auxiliaries protection relay

c) GR full notch protection relay d) DJ protection relay

TS UM DI feft.......... A disl a1 3 3MTs/Ud B! &G 7 B b HRU B ¢ |
6th notch tripping is due to non closing .......... contactors or their I/Ls.

a)C101or C102 or C103 b) C 106 or C 107 or C 108

c) C105 or C106 or C 107 d)C11lorC1210rC118

gfe No g 44 T W&l B, O g 44 R Fraurfa & q-ary L. R & o off
Ayt sRa-t gl

If relay Q 44 is wedged, the precautions for .................. relay also to be observed along
with Q 44 relay precautions.

a) Q45 b)Q 118 c) QCVAR d) None of the above

HYUT & TIY-F1Y §fHT o1 Get daRt B AR ... R gRI B STt 81

The correct preparation for traction as well as braking is supervised by ........ relay.

a) Q-52 b) Q-51 c) Q-50 d) Q-49

WAG-9 IT WAP-7 @Rl & .............. SFIH T AT & (ITUTHR 3R e aeier
aret )|

WAG-9 or WAP-7 locos are having .............. number of dampers (in both primary and
secondary suspension).

a) 16 b) 20 c) 40 d) 10

3¢ @it 31, RadR Fanford et & fow gfaied #{ fF &l ™ ... S ST 8T
3R THIR a1 6.4 fham/a#T2 & 3178 gl A1 v|

In 3@ loco, to operate reverser ensure ......... node information on screen and MR pressure
should be more than 6.4 kg/cm?2.



a) FLG-504 b) FLG-550

¢) FLG-570 d) FLG-590

14. TqdT aTed HI HAGAMTAT ST GATT T ... TRATITH/TAFH2 ATATH ........ Ahs H HAT
gl
Sensitivity of distributor valve is reduction of........ Kg/cm2 amount of BP
pressure with in .......... seconds.
a)0.6,6 b)0.3,6 c)0.6,3 d) 0.3, 60

15. RerQ118F ............ Jhs HT TAT R ¢ |

Relay Q 118 is having ............... seconds of time lag.
a)5 b) 6 c)3 d) 60

16. ST§ MPJ Sl a1l & 31T3Y ¥ 3R I@T AT &, arJ1 31 2 gsar hr f&ufa ... giargl

17.

18.

19.

20.

When MPJ is put to forward in cabl, the J1 & J2 handles position are ..........

a) J1 up, J2 down b) J1 down, J2 up

c) both J1,J2 down d) both J1,]J2 up

T TR 31 3RET H 3UclstT WAP-4 oliehl #, QF Rer & @eifara afder ................ ey
gl

In roof mounted RB provided WAP-4 locos, revised setting of QF relay is ................. Amps.
a) 700 b) 800 c) 850 d) 900

IfE & T TEC H el 8 AT &, AT 5 T Golt B ST |

If crew failed in BA test, then the crew status goes to

a) SYSLT b) SYSRF c) SYSBAF d) SYSNF

" RTH" 3R "I1ST 371" & 1T 37T & FETSATAT

Difference between “Train arrival” and “Sign ON” is called

a) PAD b) PDD c) PCDO d) None of the above

WAG-9 SlIehl &l ........... STIeFE sieh TATelS hl HEAT 31X ....... TTiehaT sieh oIS

T&IT YeTeT fohar ST g |
WAG-9 loco is provided with ............. No. of direct brake cylinders and ........ No. of parking
brake cylinders.




21.

22.

23.

24.

25.

26.

a)12 & 4 b) 12 & 12 c)4 & 12 d) 12 & 21

313 EITeT TeeTAe 4.5KW T TETeT I TS dY Soc I el H&AT &
The total number of V belts provided to the drive TL alternator 4.5KW are

a)
b)
c)
d)

w N OB

I3 Ui Al & TAT 7T SolFEIATSE AR e oh TN ITANT FohT STt dTel TG STed
3R U8 1 31T AT gIe?

The ratio of distil water and acid used to prepare new electrolyte for lead acid cell is

a) 1:1 b) 2:1 c) 3:1 d) 4.1

110V, 18, 22.5KW AC I 3Tec{aie Tellel o [olT SN T STet dTell V S 3l ITHIR
Size of V belt used for driving 110V, 18, 22.5KW AC coach Alternators

a) €122
b) C118
c) Cl24
d) None

110V ETTel FAECH & Tarerer Jell &1 TUe Hehel AT

Pitch circle diameter of Axle pulley of 110V TL system

a) 200mm
b) 140mm
c) 572.6mm
d) None

SIS AT 110V & 9T o191 THY ST & folw 39T fohT STe aTel 37eedaie T ol &Td T

The capacity of alternator used for BG coach 110V roof mounted AC coach

a) 12KW
b) 18KW
c) 25KW
d) None

4.5KW 110V TL 3Teedaied T &3 iarer

The field resistance of 4.5KW 110V TL alternator has



27.

28.

29.

30.

31.

32.

a) 4.5+/-0.5 ohms b) 6.0+/-0.5 ohms c) 10+/-0.5 ohms d) None

TATTST oA1el-UHT e & Sl wef &y W Farg?

What is the rating of Battery fuse in LHB Non-AC coaches?

a)16 A b) 32 A c)35A d) 40 A
ToITTe] HAlel-UHT TR R (Ssail 7 F&a Serell e & e Far g?
a) 9 hdIT b) 10 ShdIT c) 12 FHdw d) 15 sharaw

What is the rating of the main power transformer in LHB Non-AC chair car coaches?

a) 9 KVA b) 10 KVA c) 12 KVA d) 15 KVA

TEY 3 AT SN TAU! Il T IS FAT &2
a) LWFAC b) LWACCN c) LWFCZAC d) LWLRRM

Code of AC 3 Tier EOG LHB Coaches is —

a) LWFAC b) LWACCN ¢) LWFCZAC d) LWLRRM

gcdeh RMPU H fohdal e ai gla &7

Each RMPU has how many compressors?

a)d b)3 0)2 d)1

f3af Afcaad W olis vils Sl & goaciange 1 fafise areca a1 gl =g e?

What should be the specific gravity of the electrolyte of Lead Acid Batteries at 27° C —

a) 1.200 b) 1.210 c) 1.220 d) 1.230
faeger 3mmer, forg el & 3 82

a) FAIT b) FITE &Y ¢) FITg &Y d) FeITg 3T

Electrical fire comes under which class of Fire?



33.

34.

35.

36.

37.

a) ClassA b) Class B c) Class C d) Class D

HST SAH T fohd AT HI SI SFS &2
a) deNfadr b) SFIeH o) AT e d)PIT

Candela is the Sl unit of which of these quantity ?

a) Velocity b) Impulse ¢) Luminous intensity d)Force

iR haed HF NFTT A AfFier 7 o & fov F=aff@a & 9 g _fY =
3UTeT fRAT SATaT 27

a)C WUTRA  b) HWell HUIRT )€ RUFX  d)3qard # @ &S o
Which of the following method is used for changing power factor from leading to lagging?

a) shunt capacitor b) series capacitor c¢) shunt reactor d)Any of the above

ToleT 3R THST o131 & [olT THIT & g8 el hserel ST Tarra! fohdsil aleiT a1fgu?
a) 17 e b) 18 thie c) 19 e d)20 e

Clearance of the lowest conductor from the ground for LT and MT lines should be ?

a) 17ft. b) 18 ft. c) 19 ft. d)20 ft.

55 g 60 die 3R 100 dlc & ST HT H@oll H YA & W F ST S, ar
hisT &7 T 3R el am

If a 60 W and 100 W lamps in series and are connected to a source of supply, which lamp
will give more light

a) 100W
b) 60W

c) Both will give same light/ SIT Teh ST UMY &ar
d) None of the bulb will glow/?ﬂgﬁfdva el SToldT.

11 kV/415V SREHTFER FIE&TT o TTT LA, TS dlecsT &



The rated voltage of L.A. for 11 kV/415V Transformer Protection is

a) 11 kV. b) 12 kV.
c) 9 kV. d) 24 kv

. 25 071X, 1500 dTe &1 Mo FidldsT 2 8¢ AT el &, 180 feall deh @ad &hr 1
gfee ar glam?

A geyser of 25 liters, 1500 W remains ON for 2 hrs per day, units consumed for 180 days
will be

a) 540 b) 480 c) 620 d) 700
. d0g 9q Fr Al Fgl TUd gal 8?

(a) STHEAT TR T IR (b) FTHGA TR & A

(c) IR & gy H (d) gTo & IS LT
Motor of the VS pump is located at?

(a)Above the ground level (b) Below the ground level
(c) Deep in the bore (d)None of the above

. 3TaRTS TThd ATFd IR afafraneiier afda srafeer aerg

a) TIse ATFd b) qTaR tharex
c) ais herex d) 31TRIRdA AT

The vector sum of active power and reactive power required is

a) Apparent Power b) Power Factor
c) Load Factor d) Maximum Demand

. euifde T T ATURUT hegTaARe GUT o foT 31feehde TererT g3 A 317 w181 glar
Uy

Theoretically the maximum suction head for ordinary centrifugal pumps should not
exceed.

a) 20 feet b) 34 feet c) 10 feet d) 5 feet.



42.

43,

44.

45,

46.

Teh Tof TRfcleT o RIS &
One ton of refrigeration is equal to

a) 200 Btu/ min
b) 100 Btu/ hr
c) 50Btu/hr

d) None.

S3TSI UTa) R o dfceleX thel Al Shr IfEIT FAT 2

What is the rating of ventilator fan motor of EOG power car?

a) 7.5HP
b) 5HP

c) 10HP
d) 20HP

ScliraraET I §

a) dedI Fr I3 e T 1/10aT fFwaT
b) sedY Fr X3 &7 T 1/204T fFeaT
c) Sl IS &THTT T 1/537 fgeam
d) o TS &THAT T 1/30aT fgear

Normal charge of battery is

a) 1/10th of the rated capacity of the battery
b) 1/20th of the rated capacity of the battery
c) 1/5th of the rated capacity of the battery

d) 1/30th of the rated capacity of the battery

SR & A1 AT I HI dlecst AfeeT T He fomar = Arfew

The over voltage setting of OVP with ERRU should be set at

a) 140-145V
b) 125-130V
c) 135-140V
d) none

R22 T TS ATH &

a) HIA FART FSFLIRT AT CHCIF2



47.

48.

49.

50.

51.

b) STEFART FBFART HIYsT CCI2F
c) SEFART ATATFAR HIAT CHCI2F
d) SN

Chemical name of R22 is

a) Mono chloro Difluoro methane CHCIF2
b) Dichloro diflouro methane CCI2F

c) Dichloro monoflour methane CHCI2F
d) None.

T eI Il oh IRUANY T TfieleT T & a7

Capacity in tons of refrigeration of RMPUs of AC sleeper coach

a) 14tons
b) 10.4 tons
c) 5.2tons
d) None

Sieter Yo 3 faegd orlvares i &
a) PCEE b) CEDE c) DRM d) CEGE

The Electrical Inspector at zonal railway is

a) PCEE b) CEDE ¢) DRM d) CEGE

IRTANY et 3 HieiaT Higed & = &1 1S 0 ¢ i 15 @iy e

Drip tray provided under cooling coils in RMPU coaches should have a depth of
a) 90 mm

b) 50 mm

c) 25mm
d) None

SoT# I et AT IRoIe RMPU H 9197 fohaT ST 872

Which one of these Refrigerant is used in RMPU?

a) R11 b) R 12 ¢) R 22, R407 C d) R 32

19X 8.5 TH3T3C H ¢ Fir a1y freT afa ger gl



52.

53.

54.

55.

56.

57.

The speed of train on 1 in 8.5 turnout is kmph.

a)8 b) 10 c) 15 d) none of the above

STe ST TR TN Selleh TAEeH H ¢of U 81 STl § 3 3THew offget ATl
8T SITcT &, AT 3T e olTSeT i forge o 3reTaR Tfere faa seam|

When train meets with an accident in automatic block system on DL and the adjacent line
is obstructed, the adjacent line shall be protected as per rule.

a) GR 6.06 b) GR6.12 ¢) GR6.09 d) GR 6.03

T ¥ [87eTel e deh 3% Tge] el AT SIe e feh olTSeT & shael 3dTel
Tt Faetel e dfesn HIET T HHA hr gATeT gl Teh T o &

The automatic stop signal shall not assume OFF aspect unless the line is clear not only
up to the next automatic signal but also for an adequate distance of not less than

meters.
a) 240 b) 150 c) 120 d) 180
ST solleh AFAT FI 3T &1 fRrac gidr & ar e arsfser &
UIaeIe Aa g |
When there is a falling gradient of towards block section the

provision of slip siding is compulsory.

a) 1IN 100 b) 1IN 80 c) 1IN 200 d) 1IN 150

STeT $11 TSSTUH ol Tl SISET g iec clieh & A Y TGT &1, ol THUH & HgaT
TS T THUH TFH h13eX I JAT Il oh [T FcaT AdTTold M|

Whenever axle counter of IBS is functioning improperly, SM in rear with the co-operation
of SM in advance shall operate buttons to reset axle counter.

a) PB2 in co-op PB3 b) PB4 in co-op PB3 c)a&b d) none of the above

244 o DI T SR B SRR I &b I b (o8 GRS HH oIl 5 |

Rainfall above cross in 24 hours is considered as dangerous for running trains.

a) 5CM b) 6 CM c) 7CM d) 8CM

OIS TAUT i Y= H HIgRT A9 1T §, ol TsHIeUe sl Red &
fopeit ufay T ot ifd ufdey e fear Srar 21




58.

59.

60.

61.

62.

When LP observes foggy weather in the block section, a speed restriction of
kmph in Absolute Block System.

a)60-30 b) 45— 25 c) 30-45 d) none of the above

fem1 7S areft AreRTSt # sifew EEARNSEINENSEREEIEY

Goods train without guard shall have last brake cylinders in working condition.

a)5 b) 7 c)12 d) none of the above

g TR-IRft Y ¢ ge J I THg d% T Xgal ¢ dl ol surT &
ARGl gl B

When non-CC rake train is stabled for more than hours fresh BPC is required.
a) 52 b) 24 c)12 d) none of the above

TaTferd scileh YUMTel! 8 IR T g fandl ¢ ol b b fof __ . SeHer ¢ bt fa=m
ek o fdd_ MR &l g8 R I o |

To stop of a train out of course in automatic block system __ no. of detonators are placed
at __ meters from the end of platform in direction of the train.

a) 3, 120 b) 2, 180 c) 1,120 d) 4, 600
e T TS IMFR AUTRT F & AT f7g RTH 1 39T fmam Jrar g2

a)?ﬁﬂa:rﬁ?m

b) TFIRR & fgH
c) hfedd &l AT
d) 7T &l faH

Which law is used to determine economic size of conductor?

a) Gauss’slaw b) Ampere’s law c) Kelvin’s law d) Newton’s law

150 U1 aTell 3ol & HTETH & YhIT TaTg 0.08 wh/s T & T TGl §| Fsell o
& g YRT STHTE FATE?

The magnetic flux through a 150 turns coil increases at the rate of 0.08 wb/s. What is the
induced EMF between the ends of the coil?

a) 24v b) 12v c) 20v d) 120v



63.

64.

65.

66.

67.

T RaT S5eRereT HIET T Q3T Eieh JTTHIH Il § STl AT TR Ter/zRoT
X gfafrar/@Ror grar g

a) & SE AT b) & SRTeR ) A A d) & 318+

The starting torque of a slip ring induction motor is maximum when rotor
resistance/phase is rotor reactance/phase.

a) notequalto b)equalto c) less than d) more than

Ueh 31T ¢ FMT 1500 IRATH G 250V FHT TH STATH AhAT Far &1 50A Fr

R O & fow A f@a et Ara hifaw]

A DC shunt machine develops an Ac EMF of 250V at 1500 rpm. Find the torque developed
for an armature current of 50A.

a) 59.6 N-m b) 79.6 N-m c) 69.6 N-m d) 49.6 N-m
3 TOT YIOT Al H, oh HaL H T Folehd ol HIUET 1T A &
a) TeeX arsfaar b) T c) UeX Felard d) &g

In a 3 phase induction motor, the relative speed of stator flux with respect to
is zero

a) stator winding b) rotor c) rotor flux d) space

3R 9faier 0.5 3 3R S STATE 200 dF i 230 I ST Al GaRT Wi 7 GRT
3

The current drawn by 230 V DC motor of armature resistance 0.5 ohm and back emf 200
Vis

a) 60 b) 40 c) 600 d) 660

4 9, 50 §EoT HTSUH 7% T UT 1 AT g1 Ve A IR SwaATs & 3mgfa
gt

4 pole, 50 Hz IM operates at 7% slip. The frequency of EMF induced in the rotor will
be

a) 0.5 Hz b) 2.5 Hz c) 1.5 Hz d) 3.5 Hz



68.

69.

70.

71.

Sl faRer 3R AT FETIeh dhorerereT # &Y AT Hsferdl 1 et Uehea HA: 12
mH 3T 38 mH &1 FsTerat & e TRETRe Wehed AT HifaTT

The total inductance of two coupled coils in the series opposing and series aiding
connections are 12 mH and 38 mH, respectively. Find the mutual inductance between

the coils

a) 10 mH b) 26 mH c) 6.5 mH d) 13 mH
Teh GHTATCR 3oJoA1G TRUY &, IRYY hr geTqe gfdaren gidrg

a) 3Teeha# b) ~g=TdH o) T d) 3t

In a parallel resonant circuit, the input impedance of the circuit is

a) maximum b) minimum c) zero d) infinite

16 V 3Yfcl @ Shelehe Blol TR 4V & RS dlecol 319 & 6T Teh Tdegd dod & ATLTH
YT T 40 mA T TR I & T AT ST IR FT AT g

The value of a series resistor required to limit the current through an electric bulb to 40
mA with a forward voltage drop of 4V when connected to 16 V supply is

a) 20 ohm b) 100 ohm c) 1000 ohm d) 300 ohm

faeg et deehcd & Tedl H, g HATAT dTell HSell Sl aehr gac ganT fAuiiRd
T ST RN

a) cifgat g1 T faaH
ECERICGEIRE]
c) muTfass Rgena
d) STU g1 7 AT

In the context of electromagnetism, the magnetic polarity of a coil of several turns can
be determined by the

a) right hand rule

b) mechanism of force production
c) molecular theory

d) left hand rule



72.

73.

74.

75.

76.

77.

Rt Fseex F a1 RBerer 6 & v 3ivas yiaerer Far gefe

What will be the OHE impedance for single track without return conductor ?

a) 0.41/ 700 ohm/km b) 0.43/ 700 ohm/km
c) 0.48/ 700 ohm/km d) 0.24/ 700 ohm/km

TIRWT b W THY ST H 31 hae 3rafr ders

Maximum span length in AC traction on tangent track is

a) 67.5 meter b) 72 meter c) 63 meter d) 22 meter

BT T3T3C W INTTS FI arEdTaeh SiTaT o AT I <I8Y TS 3YHIUT & AT,
TR Tt S0 3TF 18T g1
With crossed type OHE equipment with actual crossing of OHE’s at facing turnout , the

anchor span shall not be more than

a)67.5m. b) 36 m. c) 58.5 m. d) 54 m.

AT ST o TIT 3NTIS TIAAT3HT Pl T3S et o ol 1w gar s gard W faar
rarSrar g

Maximum wind pressure is considered to design OHE structures for Yellow zone

a) 112.5 kgf /sg. m. b) 125 kgf /sq. m.

c) 109.5 kgf /sq. m. d) 102 kgf /sqg. m.

FeFel H RAFRATAr a7 819 8T, L= _AEaR Fr JaTS, 7= FsFed & dard 3R w =
HeFeT Dl UTT HIEI dolel

What will be the sag (s) in the conductor? Where, L= span length, T= tension in the
conductor & w = per meter weight of the conductor

a)s=wlL2 /T b)s=wL /8T
c)s=wlL2 /8T d)s=TL2 /8w

T YT H, "H AU IS Y ITATT o [T TeT T RS/ TH3N o i
T IR $T e gAdH FATS

In AC traction, minimum height of contact wire under ROB/FOB from rail level to permit
“C” class ODC

a)4.92 m b)4.80 m c)4.65m d)5.03m



78.

79.

80.

81.

82.

83.

84.

85.

o HYoT H, TR s fr garfea Hr&ars @

In AC traction, height of termination of unregulated OHE is

a)6.75m b) 6.8 m €)6.95m d)7.2m

T T2 7 58.5 HieT T 1S F el TR A &

In AC traction , how many droppers in 58.5 m span length

a) 9 droppers b) 8 droppers c) 7 droppers d) 6 droppers

T gU 3TTS & T, giox i o Rl 3R Fealer e & o &1 v sad it
sTel glel A1fg T

For inclined OHE, angle between dropper’s top position & vertical plane should not be
more than

a) 100 b) 60 c) 40 d) 20

AC el IR & Ycdeh TS I ATH BT &

Diameter of each strand of AC catenary wire is

a)2.92 mm b) 2.42 mm c) 2.11 mm d) 2.32 mm
107 31 FAHT IR &7 s H TR

Condemning size of 107sq mm wire

a) 8.93 mm b) 8.34 mm c) 8.25 mm d) 8.89 mm

TIIT ¢oh T, TUS TCIR THAYA T 200 THAT §, el TEIR 4T gM?

On tangent track, contact stagger is 200 mm at support, what will be the catenary
stagger?

a) 300 mm b) 200 mm c) 100 mm d) Zero

Composed compound catenary system is suitable upto the maximum speed

a) 160 kmph b) 100 kmph c) 250 kmph (d) 190 kmph

T T SIS HITHT 3, AT AN TR SRS TR T by AT B G @
31 7T gl TTfRe



86.

87.

88.

89.

90.

91.

In four span insulated overlap, the distance between the centre of the four span insulated

over lap & anticreep should not be more than

a) 800 m

PTFE ST Add &

b) 750 m

a) TATTEC ¢l TRl 3UT
C) Uiell ¢l FelRT 33T

PTFE stands for

a) Plastic Tetra Floro Ethane
c) Poly Tetra Floro Ethane

AT SHoleY TUTA T R FHA 61 glell AT

c) 600 m

d) 4

50m

b) atelt 2Hf hfaTed 33T
d) TTelY T FeART Tl

b) Poly Thermo Finials Ethane
d) Poly Tetra Floro Ethylene

At section insulator location , encumbrance should not be less than

a) 152 mm

b) 320 mm

c) 450 mm

d) 600 mm

eFAeT FHACT 3TN 3R 3T &b o oI AT fprell §

Minimum clearance between section insulator assembly and adjacent track is

a)5.3m

b)5m

c)4.751 m

d) 4.725 m

1500 HIeX &2 oTa1s H fohdel "C" STY T 39T ThIAT SATAT &

How many “C” jumpers are used in 1500 m tension length

a)2

b) 3

“C” STFIT T hig FAT T &

Cross section area of “C” jumper is

a) 50 sq. mm

b) 97 sq. mm

c)6

c) 105 sgq. mm

gl Toteh Theed o 8.41 SircareX fohd 7115 I Geldl 5?2

At which node, 8.41 contactor of harmonic filter get opened?

a) 590

b) 592

c) 594

d)5

d) 596

d) 107 sq. mm



92.

93.

94.

95.

96.

97.

AHY TeTeIA/ASeSY GaRT AT SeATet Teit 22 HIell Tehel Sldel ol GHTTT FAT 57
What is closing of 22CB single bottle, M/S Alstom/Schineder make VCB?

a) <100 ms b) <50 ms c) <145 ms d)<125ms

J97-9 ent A ETH MTHT hdal A J1E el ATfRu?

TM greasing in Wag-9 loco must be done after how many months?

a) 3 months b) 6 months
c) 9 months d) 12 months

WAG-9 & TM &I T ¥t & FoIT T Yah o 3T T 39T TohaT STt 872

a) Haf 60 33T b) THTTHT-120 c)wafA  d) ferceerd
Which type of grease is used for greasing TM of WAG-9?

a) Servo 60 RR b) SHC-120 c) Servogem d) Liplex

AIUH SelI3R A g SR T TRR?

Size of bearing used in TM blower?

A) 6206 B) 6208 C) 6306 D) 6312

gTeT &1 # ARSI o grAffied heel il 3eleT el & foT TaATH SRy fohar &1
fArIfaflad # & fora gulieeT & T TA9T 181 fohar ST 872

a) AT b) Tegeid c) Erefue SREIC]

Recently RDSO has released MS for isolation of harmonic filter. In which of following
propulsion it is not applied?

a) Medha b) Alstom c) CGL d) ABB

HRETH3N SR 3IRITHT WAG-9 Y &Tel STaet S T ol T 72
What is energy of long life buffer recommended by RDSO of WAG-9?

a) 15 KJ b) 20 KJ c) 25 KJ d) 30 KJ



98. WAGY dllhiAIfeT & TolT T &l dllplAIfed (3Tel9T-37e1eT S191T) & folT 9fgu & eara &
3R I Har HATFAT 82

What is service limit of difference in diameter of wheel for same locomotive (different

bogie) for WAG9 locos ?

a) 10 mm b) 15 mm c) 20 mm d) 25 mm

99. WAG9 e & foIT varger siarg 3T aieft v & i afeahol ol g AT 87

What is vertical clearance between axle box and bogie frame for WAG9 loco?

a) 20-26 mm b) 27-35 mm
c) 36-42 mm d) 43-50 mm

100.fFTTATET & & HIEel sieh [T &1 it AT TeHRY seh [elst & T Iriere gara

JeTe hidr a7
Which of the following LRU of CCB brake system provide pilot pressure for brake cylinder?

a) 20CP b) ERCP c) BCCP d) 16 CP
Q101. R HY & USRS 36G2AT H 3l & fohel TAT T TN TohAT ST ATTRT?

a) AIRATT 37ehl T AT &9 b) Ea=TIRY 37h
¢) NHT 37k d)3RFd H F FIS AdT

Q102. AEAARAT & & HlA & o1 3R & FAeeT T nadt I A anfAeT @ 82
a) BRTHI YEIBED c) SRRY d) sar

Q103. IrSTST fioaAl & gl R €e 1 fohcel &t & aefiepey foham aram g

a) 1 b) 2 c)3 d)4

Q104. TS AT g a¥ g forar a=ar ame

a) 1974 b)1975 c) 1976 d) 3AH ¥ IS Agl
Q105. aﬁa%ﬁaﬁﬁﬁaﬁﬁﬂqmﬂwﬁﬁmﬁ%ﬁésw-wﬁgémﬁﬁ

THTET Xl 82

a) RS Femghr afAfa b) o afafa

c) TetHTYT AT d)sﬂﬁ@faﬁéﬂﬁ



Q106.

Q107.

Q108.

Q109.

Q110.

TN TTHTST FRIT-aI"T AT & 3reTeT T &2

a) IIRTA b) T3.3IR.TH c) Tz Srdr.am d) TereTST 3TfRIRY
USTHNT HATY &1 RAIE & 9edd T el gl

a) ARIHT reTeT b) Trseafa c) 3UTegeT d) 38 & PS AGT

R Eaq g AT SAATE ?

a) 14 RdsX b) 15 FcisR c) 2 TR d) 3 feEeR

ST f3TH & ITAN, glex. 3 IR gdell g AT TS ford ST 7 37arg »
a) & &aT b) '@ &F c) ‘T aT d)3ad F T S 78T

ST @ sl T AT &7 ‘a1 &F A gdliiehd § ? -
a) FIRTS b) HERTSE ¢) IR d) 3RFT &H T HS 78T



